
5 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

1 

S50 
Suzuki GSX-8S 

 
           Kit for left side               Kit for right side 

          ID. Description Cat.No. Pcs. 

 

ID. Description Cat.No. Pcs. 

 1 Dural. adapter 773 1 

 

1 Dural. adapter 774 1 

 2 Dural.roller l=17mm 147 1 

 

2 Dural.roller l=17mm 147 1 

 3 Dural.roller l=38mm 154 1 

 

3 Dural.roller l=38mm 154 1 

 4 Bolt M10x80x1,25mm 920 1  4 Bolt M10x80x1,25mm 920 1  

5 Bolt M12x80x1,25mm 908 1  5 Bolt M12x80x1,25mm 908 1  

6 Plastic cover M10 X4 1  6 Plastic cover M10 X4 1  

7 Plastic cover M12 X60 1  7 Plastic cover M12 X60 1  

8 Dural. roller l=40mm 4 1  8 Dural. roller l=40mm 4 1  

9 Bolt M10x80mm 852 1  9 Bolt M10x80mm 852 1  

10 AL insert to the protector X1 1  10 AL insert to the protector X1 1  

          

 

 

Assembly : 

 
Installation of the two-point mounting is simple. The most important 

thing is to sort the lengths of the duralumin rollers and screws 

correctly. Install one side first and then the other side. Follow the 

photos below to install. 
 

 

 
Note: We recommend using medium strenght thread glue for all bolts 
(blue color). 
 

 

 

 

 

 

 



5 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

2 

 

 

 
 

 
 

 
Left side : 

 
 

 
 

 
 

 

 
 

 

Bolt ID.4 + dural.roller ID.3 + 

plastic cover ID.6 

AL insert to the protector ID.10 

+ protector + dural.roller under 

protector ID.8 + bolt ID.9 

Bolt ID.5 + dural.roller ID.2 + 

plastic cover ID.7 

Dural. adapter ID.1 



5 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

3 

 

 
 

 
 

 
 

Right side : 

 
 

 

Dural. adapter ID.1 

 

Bolt ID.4 + dural.roller ID.3 + 

plastic cover ID.6 

 

Bolt ID.5 + dural.roller ID.2 + 

plastic cover ID.7 

 

AL insert to the protector ID.10 

+ protector + dural.roller under 

protector ID.8 + bolt ID.9 

 


